SESSION ONE – WHAT IS BUSINESS?

Activity 1.1
Purpose : to identify some common characteristics of businesses.

Common characteristics.
They consist of a number of people, the people who belong to them will share some common views about the purpose of the business, they will have some income and costs, they will need different types of resources to produce different types of services.

Private sector - businesses not controlled by the state
Public sector – any part of the nations economy that is controlled and operated by the state.
For profit/non profit – differentiates businesses according to whether their primary motive is profit.

Activity 1.2
Purpose : to reflect on stereotypical and actual differences between the private and public sectors.

Public sector – viewed as large and slow in decision making.   Infinite recources provided by the state. Relatively stress free places to work. Low staff turn over .

Private sector – efficient , profit driven , flexible , responsive.

Gareth Morgan (1986) – “the use of a metaphor implies a way of thinking and a way of seeing that pervade how we understand our world generally”
Images of organisation using eight metaphors

Machine - businesses are often described and operated as if they are machines with highly visible structures and procedures. Continuity and security. Fit people into jobs rather than much creativity

Organism – seeing the business as behaving in similar ways to our own biological mechanisms. When the environment around us changes so do our bodies. Successful businesses are adaptable and open to change. Structures and procedures

more flexible.

Brain – seeing a business as a brain means realising it has to be able to respond to change. Capable of rational thinking and intelligent
change. Being open to inquiry and self criticism produces the ability to innovate. Learning systems that are able to self organise.

Culture – referring to the fact they are made up of sets of vaules perspectives and principles held and sustained by the people who work there.

Political – politics in this context is about the social relations between individuals and groups in a business that involve authority and power.

Psychic prison – suggests that some businesses may be constrained by themselves. Conventional ways of organising work and thinking about the best way can limit change and the adoption of alternative business strategies.

Flux and transformation – understanding the constant change shaping our lives. To understand a business we have to appreciate it as an ever changing thing – it develops it grows it regenerates in order to survive.

Vehicle for domination – businesses can be or attempt to be dominant. Impose their will on others. Appreciate how businesses can exert influence and power.

Activity 1.3
Purpose : demonstrate the difficulty describing a business

If you had to explain what a business was like to a visitor from outer space where would you start ?

Amazon – e-commerce remote overwhelming automated impersonal innovative
Corner shop – small , convenient, friendly , expensive.

Conclusion
A definition which describes all businesses is impossible but there are certain characteristics which we can identify as being

common to most.

SESSION 2 – THE EXTERNAL ENVIRONMENT

A business cannot operate without being influenced by and impacting upon the external environment

STEEP MODEL – sociological technological economic environmental and political factors .

Sociolgocal factors
Demographic changes
Patterns of work
Gender roles
The change and development in the culture of a population

Technological factors
Technological developments influence the scale and rate of change that businesses face.
ICT is lowering the barriers of time and place – opens up great global opportunities but also means they can no longer expect protection they have received in the past. The global marketplace has become reality. Increased competition from businesses tat would once have been unable to enter the market.
ICT creates new industries. World of ecommerce as well as many direct companies entering traditional areas such as insurance and banking. Business solely online
Production planners credit controllers and in some cases   sales people   - jobs based solely on ICT systems . major impact on the structure of the business and organisation of work . computer literacy is now esstential for many jobs.

Economic factors
Important factors include the rate of economic growth, interest rates inflation energy prices exchange rates ad levels of employment.
The state of the economy affects all aspects of business. It affects the level of demand for goods and services and the availability and cost of raw materials buildings land and labour.
Businesses behave according to their expectations of economic trends. If growth is expected to be

high businesses invest and expand . if economy expected to contract businesses invest less and individuals spend less.
Exchange rate.

Environmental factors
Legislation – main emphasis on pollution control and waste disposal. Also affecting packaging , transport and distribution . sources of materials.
Information – businesses now report regularly on their environmental performance . environmental audits published in annual reports.
Employees – maintain good communication with their employees listening to their opinions and reporting back on regular basis.
Shareholders – in several countries a catergory of ethical investors is emerging.
Pressure groups – massive growth in pressure groups. Stonewall and greenpeace examples of pressure groups who have grown significantly in terms of members.
Customers – businesses operating to high environmental standards gain Market advantage. Customers willing to favour green organistations .

Political factors
Rules and regulations imposed by government. As well as the influences of such organisations as chambers of commerce, trade unions and co-operatives.
Legislation – health and safety at work, equal opportunites, employee protection. Chartered Institute of Personnel and Development website contains information on the ever changing area of employment law.
Trading relationships are strongly influenced by political factors. Word trade organization and European union are examples of this.
Government – one of the largest employers and largest purchaser of goods and services.
Level and nature of public services – health services , education and police force. Determined

on political grounds.
Governments determine levels of taxation – on the individual, on businesses on property and on goods and services .

Activity 2.2
Purpose : to look at the effects of STEEP factors on a real business.
Read Example 2.2 on page 22.
Note down and reflect on the different influences that have affected US airlines using the STEEP headings

Sociological – passengers afraid to fly due to 9/11 terrorist attacks.
Technological – developments that allowed searching for , shopping for and booking tickets online.
Economical - increasing oil costs / low cost airlines.
Environmental – pollutant effects caused by the increased number of flights through low cost airlines.
Political – 9/11 terrorist attacks.

Stakeholders – Are people or groups who have a legitimate interest in the activities of businesses and other organisations in their society.
Employees, customers and shareholders. Managers, suppliers, local communities and the government.

Four important points in regard to stakeholders of a business :

  1. All businesses have internal stakeholders: shareholders , employees, managers, directors, trustees. Also have external stakeholders which are stongly linked or affected by the business. Which include customers, clients, suppliers, funders and possible competitiors. Stakeholders which are external and are indirectly affected by the business would be members of the community or the general public.

  2. Different stakeholders have different interests these interests may be in conflict. Conflict between employees and shareholders. Employees want security of employment and

increased earnings while shareholders seek short term cost ruductions.

  3. The structure and control systems within a business will determine how these conflicts are resolved and in practice the interests of one stakeholder group will often have a dominant position. Commercial businesses are considered to be shareholder led. In reality the directors and senior managers may have the dominant interests.   Service industries may be regarded as customer led. Public and voluntary services can be considered staff led. Co operatives regarded as member led.

  4. Some stakeholder interests are protected by law but not all. Owners and shareholders protected by property and company law. Interests of other stakeholders are protected by regulation or management discretion. In many countries measures have been taken in recent years to adjust this imbalance .employment legislation provides increasing protection for employees and environmental legislation and regulation limit shareholders profits to the benefit of local communities and the environment in general.

Activity 2.3
Purpose : to reinforce understanding of the different interests and levels of power of stakeholders.

What do the statements say about conflicting stakeholder interests?
Which is the dominant stakeholder group in each case?

  1. “The health service has always been customer focused, but it has always defined its customers as the doctors”   (senior nurse)

Conflict between , doctors other clinical staff and patients . dominant stakeholders the doctors. No mention of the taxpayer who funds health service.

  2. “These people – they think

they own the place ( head teacher to colleague following conversation with parent)

The teachers may see the school as theirs but so may the parents, students, local community and taxpayers. They are all “customers” with a claim to ownership.

  3. “you can have any colour you like – as long as its black” (Henry Ford , car manufacturer)

Classic statement of industrial arrogance. The presumption of the dominant interests of shareholders and directors over those of customers

  4. “Our people are the greatest asset – and the fewer of them the better” (company’s annual report)

Conflict between shareholders and directors and employees.
Dominance lies with shareholders and directors.

All businesses have difficulty balancing the interests of their different stakeholders.

Commercial businesses have structures that recognise the dominance of shareholders. Shareholders appoint directors who appoint managers who manage the interests of other stakeholders.

Voluntary organisations are usually less rigidly structured and priorities may depend on the power of their management committees or trustees. Employees may exhibit greater dominance than those in the commercial sector.

Government bodies are accountable to taxpayers and to service users. The dominant stakeholder is the employee.

Activity 2.4
Purpose: to learn more about the stakeholders of a business.

Read essential reading 1   (page 87 ) and make notes.

Analysing Stakeholders

Stakeholders – financiers , banks, employees, manager, directors, trade unions, shareholders, suppliers, customers, competitors.

Low power and low level

of interest – CAT A   - minimal effort.
Cat A stakeholders are those that need only invest minimal effort. They should not be ignored as they may acuire a stake in the organisation by becoming for example a customer , supplier or competitor . which will mean an increased level of interest and power.

Low power and high level of interest – CAT B - keep informed
CAT B stakeholders are able to exert relatively little power in influencing the organisation and its actions.
However these stakeholders have a high level of interest in the organisation and will voice their concerns if that interest is not being considerd in a suitable manner. If cat b stakeholders voice their concerns loudly enough and in the right way, lobbying, petitions. They may be able to influence one of the powerful groups of stakeholders in cat c or d and affect their behaviour.
Organistaions need to keep cat b stakeholders informed of their activities and decisions and in doing so convince them that their interests are being taken into account and considered seriously.

High power and low level of interest – CAT C - keep satisfied
These stakeholders must be kept satisfied for example institutional shareholders. Will often remain compliant while they receive acceptable returns on their investment . they have the ability to repostion themselves on the power and interest matrix into cat D and become stakeholders with a continuing high degree of power and an increase in their level of interest. Stakeholders with high power and low interest will increase their level of interest to make sure that their interests are met.

High power and

high level of interest – CAT D – key player
Key players in the organistation, involved in managing the organisation and its future. If the key players are not directly involved it is vital they are given serious consideration in the development of long term plans and the future direction of the organisation as they have the power to block proposed plans and implement their own alternative agenda.

The AA and stakeholders with high power and high interest
The key players were the director of the AA and his immediate management team . as well as the full members of the AA.
The director and his management team were key players as their planning and decision making would determine their future with the AA , the future of the AA, the future of those who worked for the AA and the future of AA members.
The full members would collectively deciide whether the AA was to demutualise. They might have decided to support demutualisation recommendationds made by the director or to reject them in favour of a bidder such as ford buying the AA,

The AA stakeholders with high power and low interest
Merchant bank schrodes was a cat C stakeholder as it had little interest in whether the AA finally decided to demutualise.
While in the position of corporate advisor to the AA it was relatively powerful as it was able to advise and potentially influence the director and his management team.

The AA stakeholders with low power and a high level of interest.
Associate members and employees.
Associate members clearly had a high interest in whether the AA deciceded to Demutualise. Their primary concerns were the effect of demutualisation

on the services they received and the cost of associate membership. As non voting members they had no direct power to influence the outcome of any ballot on demutualisation.
Employees and a high level of interest in the future of the AA and would be concerned of the effects of the demutualisation.
Effects such as the AA becoming more competitive via cost cutting and job losses.
No role in the ballot would have to accept the outcome.
The AA kept their cat B stakeholders informed via a statement in the media and via answerphones in their office.

Other stakeholders in cat b such as ford and competitiors like Direct Line and Green Flag. External stakeholders . great deal of interest in would the AA would eventually decide to do. As their business and marketplace in which they operated would be directly influenced by the decision.

Any organisation should be aware that any info it releases keeping stakeholders such as employees and assosciate members informed will be in the public arena therefore available to stakeholders such as competitors and potential bidders.

The AA stakeholders with low power and low interest.
Non members.
The opportunity of a £200 - £250 windfall may have encouraged some non members to become members and move to cat D . perfectly possible as the aa made it clear that it was not closing its doors to new members nor was it expecting to distinguish between long term and short term members.

Low power low interest – non members
Low power high interest – associate members, employees, bidders, competition
High power low interest – merchant bank
High power high interest

– director, full members.

When analysing stakeholders two points should be noted.
Firstly people and organistations may belong to more than one category of stakeholder.
Secondly stakeholders and organisations may depend on one another. With the nature of the dependency varying according to the amount of power and interst the stakeholder has in the organisation.

There is always potential for conflict between the interests of any and all stakeholders in a business.

Shareholders and customers – customers want high quality and low prices while shareholders are interested in minimising costs and maximising profits. Primarily about timescales. In the long term shareholders and customers are interdependent and therefore have a shared interest in a value for money.

Managers and shareholders – attitudes towards salaries perks and business risk are likely to be different but ultimately the interests of shareholders are dominant . they employ directors and managers as agents to run the business on their behalf.

Funding agencies and service users – in public of voluntary services there is typically a greater demand for services than the available funds can support and choices have to be made to ration the services provided. Or compromise on the quality.

Society and business depend on eachother . businesses are part of society and vice versa. Provides benefits and imposes implications on both parties.

Business and society
The role of business is primarily economic.
Businesses exist to provide goods and services that society wants and needs, at a profit.
At the same time business depends for its 

survival on society providing the resources – people, materials, services and infrastructure.

Society provides other less tangible inputs to business :
A means for exchange (money)
A legal system that is effectively policed and enforced
Defence and trade arrangments.

A business is expected to create wealth, supply markets, generate employment innovate and contribute to the maintenance of the community in which it is situated.

How do businesses in practice reconcile the demand for greater profits , lower costs or “more for less” with the interests of society to secure employment, protection of the environment and tax income?

The degree of conflict between maximising profit and serviing the interests of the community will depend on the type of business and its
relationship with the community. If it’s a major employer major customer of local suppliers then its actions are going to have a large impact on the community. The community is a major stakeholder.

It is important that there is communication between the business and its stakeholders. Both at formal and informal level. Typically companies are good at communicating when they want something but allow communication links to lapse when there are no pressing needs.

Many decisions that may seem trivival to a business may be of great importance to the local community. An example, the routeing of delivery trucks. Communitys interests need to be taken into account.

Environmental issues often create tension. Businesses may seek to operate to the lowest legally permissible standards. May create distrust and suspicion among local residents.

The

relationship between business and society is covered in a relatively new area of business lit under the title corporate social responsibility (CSR)
Many businesses have CSR policies on their corporate websites.

SWOT ANALYSIS.

Strengths
Weaknesses
Opportunities
Threats

Analysis of these gives the business an overview of its position in relation to its external environment.

Activity 2.5
Purpose : to find out more about SWOT and apply to a real business situation.

Read essential reading 2. (page 93)

Strengths
A strength is a competence , valuable recource or attribute that an organistation uses to exploit opportunities in the external environment or to help it counter threats from the external environment.
Could include
a resource – well motivated and skilled workforce with a low turnover
Or
An attribute -   a strongly established brand image or reputation.

Customers are stakeholders in a business and fulfilling key success factors involves the organisation in meeting the needs and expectations of its customers and other stakeholders.
A key success factor may be a good relationship with a reliable supplier. Especially true if the supplier is the only supplier or one of very few.

In seeking to statisfy stakeholders esp customers while at the same time outperforming competitiors businesses should seek to
Fulfil the key success factors for the industry or market
Develop competancies that provide competitive advantage
Utilise competancies to meet the requirements of specific customers and aim to charge a premium price.

Competitive advantage aries from the unique features or extras

that a product or service posseses which customers are prepared to pay a higher or premium price for.

Weaknesses
Defined as lacking a competence resource or attribute that a business needs to perform better than a competitior in the external environment.
The lack of a key resource such as a new piece of technologically advanced equipment is also a weakness particularly if competitors already have said product.

Opportunities
Openings or changes in the external environment or marketplace that an organisation may pursue to obtain benefits.

Threats
Threats have the potential the damage an organisations performance in the marketplace or external environment.
Threats arise from competitors or factors that are outside the control of the organisation.
Threats may also arise from changes in legislation or taxation relating to the industry eg the imposition of VAT on childrens clothes would effect both the manufacterers of such products and the amount of business done by retailers selling such products to members of public.
Clearly threats from the external environment may endanger a business. However threats may also jeopardise good opportunities of which the business expects to take advantage.

Different types of SWOT analysis.
Basic swot analysis will examine how threats and opportunities can be dealt with while allowing the organisation to utilise its strengths and weaknesses to meet its key success factors.
Brief and specific lists indicating key and important issues.
A basic swot analysis should include an assessment of where the company is at the current time and where it wishes to be at

some point in the future.

SWOT GUIDELINES.
Strengths
Decide whether the organisation has the appropriate strengths on which to build and exploit its opportunities. How can it best exploit its strengths in relation to the opportunities available to it? Which strengths need to be developed in the future?

Weaknesses
Decide whether remedying weaknesses is more urgent than building on strength to exploit opportunities. Does ignoring important weaknesses make the business vulnerable to threats which could resuilt in its going out of business or being taken over?

Opportunities
Identify new markets and market segments that might be suitable given the organisations exisiting strengths and competencies.
Identify changes that need to be make to products and services.

Threats
Do threats need mananging more urgently than the opportunities pursued?
Which threats need to be dealt with immediately and in the short term?
Which threats are issues for the organisation to consider when undertaking longerterm planning?
How can threats be offset or turned into new opportunities?

One method of undertaking a swot analysis is to consider strengths weaknesses opportunities and threats in relation to four key business funtions : marketing, finance , operations and human resources.

Conclusion
The STEEP model is a useful reminder that we should consider all influences on a business.
Understanding the different stakeholders of a business is another important aspect of the external environment.
A SWOT analysis can provide useful overview of a businesses postion in relation to its external environment .

SESSION

3 – BUSINESS STRUCTURES

A structure gives a business an identity and proves continuity.
Framework for allocation of roles and responsibilities.
Most businesses have an organistational chart the char provides clues about the structure of the business –
narrow and tall many levels of authority.
Flat and wide fewer levels of authority

A business may be structured in various ways – function, product, service or geography.
The challenge facing all types of business is to develop a structure that recognises what is required while still achieving an efficient use of resources and providing effective services to customers.

Structure is essential in the relationship between what the   business does (task)   and how the business does it (process)

Functional structures – work best when departments need regular communication with each other.
Disadvantage – people who work in them may become insular

Product/Service structures – achieve better responsiveness to customers needs
Disadvantage – professional or functional expertise becomes fragmented

Geographic structures – advantages for large international businesses , likely to be differences in the markets it serves.
Disadvantage – problematic in terms of communication and information flows, support functions such as finance and ICT may have to be duplicated.

Structure will be influenced by:
Size of the business
Technology it employs
Behaviour of the groups within it
Management strategy
External environment
History and culture of the business.

Activity 3.1
Purpose: to consider the problems of trying to run a business without a structure.

Make

a list of some of the possible problems of trying to run a structureless business

  1. wouldn’t be clear who was and wasn’t part of the business
  2. no way of getting objectives agreed / no way of measuring success
  3. no agreed way of making decisions
  4. all decisions could be open to recondsideration whenever anyone was unhappy with them
  5. it wouldn’t be clear who played what role/who should do what work
  6. people in the external environment wouldn’t know who to contact.

Four advantages of having a clear and public structure

  1. enabling participation. The structure underpins how power and accountability, internal and external, operate within the business. The rules generally enable people to find their way around, co ordinate activity , make decisions and participate. Without them there would be anarchy and chaos.
  2. Providing a framework for the allocation of authority and responsibilities. It is structure that makes it clear who is doing what and helps people to work together.
  3. Establishing an identity for the business. Suppliers and customers need to be able to identify who to contact within the business. Legal documents have to be signed and procedures established for the recruitment of staff.
  4. Continuity and change. Structures can provide continuity without structure there is a tendency for people to constantly set up new systems and procedures.

There are disadvantages to well established structures.
Be difficult to change
Structures, dynamic not static.

Informal structure – about the relationships between individuals. Complicated as it involves

human elements such as respect, compatibility, motivation and commitment.

Activity 3.2
Purpose: to consider formal and informal structures by reflecting on your experience of differences with someone in charge of you.

Unable to exert authority , bit of a joke. No respect for colleagues below her. Promoted above their cababilities. Not respected or liked.

Pugh and Hickson 1968
Structural variables that help identify the type of structure within a business

Specialisation the extent to which specialised tasks and roles are allocated to individuals who work in the business
Standardisation the extent to which a business has standard procedures
Formalisation the extent to which rules, procedures, instructions and so on are written down or formalised
Centralisation the extent to which decision making and authority are located at the top of the hierarchical structure and at the centre of the business if , for example there is more than one site.
Configuration the shape of the role structure, whether the chain of command is short or long.

Like most aspects of business structure will depend on the particular circumstances. Size, history, technology, the degree of uncertainty in the external environment as well as on the values and culture of the business.

Conclusion
There are important reasons for having a structure not least so that everyone in the business knows what it is she or he is supposed to be doing. However as in most types of organisation the formal/written down structure does not tell us everything about how things may operate in practice. The informal structure is about unwri
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